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1. Select the equation that shows 3x — 4y = 12 in the form y = mx + b. ~Hi s =34 L 4 e
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2. Draw the following lines and select the point whose ordered pair is a solution. Use a ruler.
Lts One line has a slope of —2 and the y-intercept is —1.
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3. Graph the following system of equations. Then, select the solution.
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4. Draw the following system of equations and select the point whose ordered pair is the solution. Use

a ruler.
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5. By performing a ‘check’, show that (-1, 5) is the point of intersection for the following system of
equations.

LS ¢ RS ) LS €73 AsCz)
2x—y=-7 (1) 7-."!’\3, bx+ %a @
6x+3y=9 (2) 2(“\-5 G(_-‘\+ %LSB [ /5]

= o M v
7L 5 / = (Q i ,g/ q./s A T o
© Since L5 =45 in buth
equakims (1) gad (2) .
Solve each problem on lined paper. Show all steps to each of your solutions. (- i, 5‘) 15 Lty OO

Part B-Application

1. Jim’s company manufactures skateboards. The production costs are given by y =0.2x + 20, where x is
the number of skateboards manufactured. The revenue is given by y = 0.35x. How many skateboards
must the company sell to break even?
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2. Use the process of substitution and select the solution to this system of linear equations.

y=1-x
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2x+y=4

a) (3,2) b) (2, 3) ij) d) (-3,-2) [A /4]
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